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(Fas/35461)

public class CellPhonePlan {
private CallingPlan callingPlan;
private PacketPlan packetPlan;

CellPhonePlan(CallingPlan callingPlan, PacketPlan packetPlan) {
this.callingPlan = callingPlan;
this.packetPlan = packetPlan;
}
public int calculateCharge(int minutes, int packtes) {
return callingPlan.calculateCharge(minutes)
+ packetPlan.calculateCharge(packtes);

}
public String getName() {
return callingPlan.getName() + " " + packetPlan.getName();
}
}



(Fod35562)

public class CallingPlan {

private String name;

private int basicCharge;

private int included;

private int callingRate;

CallingPlan(String name, int basicCharge,

int included, int callingRate) {

this.name = name;
this.basicCharge = basicCharge;
this.included = included;
this.callingRate = callingRate;

}

public String getName() { return name; }

public int calculateCharge(int minutes) {

int callingCharge = E;

it (oD

callingCharge = ©;
return basicCharge + callingCharge;

}
}

(a5 453)

public interface PacketPlan {
String getName();
int calculateCharge(int packets);
}

(Faysh4)

public class Measured E {

private int packetRate;

Measured(int packetRate) {
this.packetRate = packetRate;

}
public String getName() { return ""; }
public int calculateCharge(int packets) {
return packetRate * ((packets + 99) / 100);
}
}
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(715 L5)
public class Tiered A

private String name;
private int basicCharge;
private int allowance;
private int packetRate;

Tiered(String name, int basicCharge,
int allowance, int packetRate) {
this.name = name;
this.basicCharge = basicCharge;
this.allowance = allowance;
this.packetRate = packetRate;
public String getName() { return name; }
public int calculateCharge(int packets) {
int charge = basicCharge;
if (packets > allowance)

charge += packetRate * ((E) / 168);
return charge;
}
¥

(7o 5 46)

public class CellPhonePlanner {

static final CallingPlan[] callingPlans = {
new CallingPlan("A", 2000, 1000, 40),
new CallingPlan("B", 3008, 2000, 30) };

static final PacketPlan[] packetPlans = {
new Measured(29),
new Tiered("S1", 1060, 10000, 8) };

static final CellPhonePlan[] cellPhonePlans = {
new CellPhonePlan(callingPlans[@], packetPlans[@]),
new CellPhonePlan(callingPlans[@], packetPlans[1]),
new CellPhonePlan(callingPlans[1], packetPlans[@]),
new CellPhonePlan(callingPlans[1], packetPlans[1]) };

static CellPhonePlan getRecommendedPlan(int minutes,

int packets) {
int minCharge = ;

CellPhonePlan recommended = null;
for (CellPhonePlan cellPhonePlan : cellPhonePlans) {

int charge = ;

if (charge <= minCharge) {
recommended = cellPhonePlan;
minCharge = charge;
¥
}



return recommended;

}

public static void main(String[] args) {
int[][] testData = {{30, 1000}, {30, 10000},
{300, 1000}, {300, 10000} };

for (int[] data : testData) {

int minutes = data[@];

int packets = data[1];

CellPhonePlan recommended =

getRecommendedPlan(minutes, packets);

System.out.printf("minutes: %4d, packets: %6d => %-6s (¥5d)¥n",
minutes, packets, recommended.getName(),
recommended.calculateCharge(minutes,

packets));
}

}
}
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public class TieredBounded {

private int maxCharge;

TieredBounded(String name, int basicCharge, int allowance,
int packetRate, int maxCharge) {
super(name, basicCharge, allowance, packetRate);
this.maxCharge = maxCharge;

}
public int calculatecharge(int packets) {

int charge =
if (charge > -)

charge = maxCharge;
return charge;
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